

Geometrically Convex Function and Estimation of Remainder Terms in Taylor Series Expansion of some Functions*

Xiaoming Zhang[†] Ningguo Zheng[‡]

December 21, 2005

Abstract

In this paper, two integral inequalities of geometrically convex functions are proved. For their application, estimation formulas of remainder terms in Taylor series expansion of e^{-x} , $\sin x$ and $\cos x$ are given.

Key words: inequality, geometrically convex function, definite integral, remainder term.

1 Introduction and Definition

The paper first proves two integral inequality of geometrically concave functions, then obtains the estimation formulas of remainder terms in Taylor series expansion of e^{-x} , $\sin t$ and $\cos t$, where $x \in (0, +\infty)$ and $t \in (0, \frac{\pi}{2})$.

In [1] [2] [3], the authors obtained some relative definitions of geometrically convex function.

DEFINITION 1. *Let $f : I \subseteq (0, +\infty) \rightarrow (0, +\infty)$ be a continuous function. then f is called a geometrically convex function on I , if there exists $n \geq 2$, such that one of the following inequalities holds for any $x_1, x_2, \dots, x_n \in I$ and $\alpha, \beta, \lambda_1, \lambda_2, \dots, \lambda_n > 0$ with*

$$f(\sqrt{x_1 x_2}) \leq \sqrt{f(x_1) f(x_2)}. \quad (1)$$

$$f(x_1^\alpha x_2^\beta) \leq f^\alpha(x_1) f^\beta(x_2). \quad (2)$$

$$f\left(\sqrt[n]{\prod_{i=1}^n x_i}\right) \leq \sqrt[n]{\prod_{i=1}^n f(x_i)}. \quad (3)$$

*Mathematics Subject Classifications: 26D15, 26D10.

[†]Zhejiang Broadcast and TV University Haining College, Zhejiang 314400, the People's Republic of China. email: zjzxm79@tom.com

[‡]Huzhou Broadcast and TV University, Huzhou, Zhejiang 313000, the People's Republic of China

$$f\left(\prod_{i=1}^n x_i^{\lambda_i}\right) \leq \prod_{i=1}^n f^{\lambda_i}(x_i). \quad (4)$$

And f is called a geometrically concave function on I if one of inequalities (1)-(4) is inverse.

LEMMA 1. ([5]) Let $(a, b) \subseteq (0, +\infty)$, $f : (a, b) \rightarrow (0, +\infty)$ be twice differentiable. Then f is a geometrically convex function if, and only if

$$x \left[f(x) f'''(x) - (f'(x))^2 \right] + f(x) f'(x) \geq 0 \quad (5)$$

hold for every $x \in (a, b)$. Meanwhile f is a geometrically concave function if, and only if inequality (5) is inverse.

LEMMA 2. ([2][5]) Let $0 < a < b$, $f : [a, b] \rightarrow (0, +\infty)$ be a geometrically convex(concave) function, and $g(x) = \ln f(e^x)$, $x \in [\ln a, \ln b]$. Then g is a convex(concave) function.

For convex(concave) functions, unilateral Derivative exists. Lemma 2 tells us that unilateral Derivative of geometrically convex(concave) functions exist.

LEMMA 3. ([8]) Let $0 \leq a < b$, function f be continuous on $[a, b]$, be a geometrically concave function on $(a, b]$, and $g(x) = \int_a^x f(t) dt$, $x \in (a, b]$. Then g is a geometrically concave function on $(a, b]$.

2 Two integral inequalities

THEOREM 1. Let $0 < a < b$, $f : [a, b] \rightarrow (0, +\infty)$ be a geometrically convex function. If $f(a) + af'_+(a) \neq 0$,

$$\int_a^b f(x) dx \geq \frac{(f(a))^2}{(f(a) + af'_+(a)) a^{\frac{af'_+(a)}{f(a)}}} \cdot \left(b^{1 + \frac{af'_+(a)}{f(a)}} - a^{1 + \frac{af'_+(a)}{f(a)}} \right). \quad (6)$$

and if $f(b) + bf'_-(b) \neq 0$,

$$\int_a^b f(x) dx \geq \frac{(f(b))^2}{(f(b) + bf'_-(b)) b^{\frac{bf'_-(b)}{f(b)}}} \cdot \left(b^{1 + \frac{bf'_-(b)}{f(b)}} - a^{1 + \frac{bf'_-(b)}{f(b)}} \right). \quad (7)$$

The equality occurs only when f is a power function or constant function. Meanwhile inequality (6)(7) are inverse if f is a geometrically concave function.

Proof. Let f be a geometrically convex function.

$$\begin{aligned} \lim_{c \rightarrow a+0} \frac{\ln f(c) - \ln f(a)}{\ln c - \ln a} &= \lim_{c \rightarrow a+0} \frac{\ln f(e^{\ln c}) - \ln f(e^{\ln a})}{\ln c - \ln a} \\ &= (\ln f(e^t))'_+ \Big|_{t=\ln a} = \frac{e^t f'_+(e^t)}{f(e^t)} \Big|_{t=\ln a} = \frac{a \cdot f'_+(a)}{f(a)} \neq -1. \end{aligned}$$

Then we can choose $c \in (a, b)$ such that $\frac{\ln f(c) - \ln f(a)}{\ln c - \ln a} \neq -1$. Suppose $x \in [c, b]$, $t = \frac{\ln x - \ln c}{\ln x - \ln a}$. Hence $0 \leq t < 1$, $\left(\frac{x}{a}\right)^t = \frac{x}{c}$, $c = a^t x^{1-t}$ and $f(c) = f(a^t x^{1-t})$. With respect to the definition 1, we have

$$\begin{aligned} f(c) &\leq (f(a))^t (f(x))^{1-t}, \\ (f(c))^{\frac{1}{1-t}} (f(a))^{-\frac{t}{1-t}} &\leq f(x), \\ (f(c))^{\frac{\ln x - \ln a}{\ln c - \ln a}} (f(a))^{-\frac{\ln x - \ln c}{\ln c - \ln a}} &\leq f(x). \end{aligned} \quad (8)$$

Hence

$$\begin{aligned} \int_c^b f(x) dx &\geq \int_c^b (f(c))^{\frac{\ln x - \ln a}{\ln c - \ln a}} (f(a))^{-\frac{\ln x - \ln c}{\ln c - \ln a}} dx \\ &= (f(c))^{-\frac{\ln a}{\ln c - \ln a}} (f(a))^{\frac{\ln c}{\ln c - \ln a}} \int_c^b (f(c))^{\frac{\ln x}{\ln c - \ln a}} (f(a))^{-\frac{\ln x}{\ln c - \ln a}} dx. \end{aligned}$$

Let $\ln x = u$, $u = e^x$, we have

$$\begin{aligned} \int_c^b f(x) dx &\geq (f(c))^{-\frac{\ln a}{\ln c - \ln a}} (f(a))^{\frac{\ln c}{\ln c - \ln a}} \int_{\ln c}^{\ln b} (f(c))^{\frac{u}{\ln c - \ln a}} (f(a))^{-\frac{u}{\ln c - \ln a}} d(e^u) \\ &= (f(c))^{-\frac{\ln a}{\ln c - \ln a}} \cdot (f(a))^{\frac{\ln c}{\ln c - \ln a}} \int_{\ln c}^{\ln b} \left[e (f(c))^{\frac{1}{\ln c - \ln a}} \cdot (f(a))^{-\frac{1}{\ln c - \ln a}} \right]^u du \\ &= (f(c))^{-\frac{\ln a}{\ln c - \ln a}} \cdot (f(a))^{\frac{\ln c}{\ln c - \ln a}} \\ &\quad \cdot \frac{b (f(c))^{\frac{\ln b}{\ln c - \ln a}} (f(a))^{-\frac{\ln b}{\ln c - \ln a}} - c (f(c))^{\frac{\ln c}{\ln c - \ln a}} (f(a))^{-\frac{\ln c}{\ln c - \ln a}}}{1 + \frac{\ln f(c)}{\ln c - \ln a} - \frac{\ln f(a)}{\ln c - \ln a}} \\ &= \frac{b (f(c))^{\frac{\ln b - \ln a}{\ln c - \ln a}} (f(a))^{\frac{\ln c - \ln b}{\ln c - \ln a}} - c \cdot f(c)}{1 + \frac{\ln f(c) - \ln f(a)}{\ln c - \ln a}} \\ &= f(c) \cdot \frac{b \left(\frac{f(c)}{f(a)} \right)^{\frac{\ln b - \ln c}{\ln c - \ln a}} - c}{1 + \frac{\ln f(c) - \ln f(a)}{\ln c - \ln a}} \\ &= f(c) \cdot \frac{b \cdot \exp\left(\frac{\ln b - \ln c}{\ln c - \ln a} \cdot (\ln f(c) - \ln f(a))\right) - c}{1 + \frac{\ln f(c) - \ln f(a)}{\ln c - \ln a}}. \end{aligned} \quad (9)$$

Let $c \rightarrow a + 0$ in inequality (9), we get

$$\begin{aligned} \int_a^b f(x) dx &\geq f(a) \frac{b \cdot \exp\left(a (\ln b - \ln a) \frac{f'_+(a)}{f(a)}\right) - a}{1 + \frac{a f'_+(a)}{f(a)}} \\ &= (f(a))^2 \frac{b \cdot \left(\frac{b}{a}\right)^{\frac{a f'_+(a)}{f(a)}} - a}{f(a) + a \cdot f'_+(a)} \end{aligned}$$

$$= \frac{(f(a))^2}{(f(a) + af'_+(a)) a^{\frac{af'_+(a)}{f(a)}}} \cdot \left(b^{1 + \frac{af'_+(a)}{f(a)}} - a^{1 + \frac{af'_+(a)}{f(a)}} \right).$$

Equality (6) occurs only when equality (8) occurs, f is a power function or constant function.

Analogously we can proof inequality (7).

The proof of Theorem 1 is completed. \square

THEOREM 2. Let $0 < a < b$, $f : [a, b] \rightarrow (0, +\infty)$ be a geometrically convex function. Then

$$\int_a^b f(x) dx \leq \begin{cases} \frac{bf(b) - af(a)}{\ln(bf(b)) - \ln(af(a))} \cdot \ln \frac{b}{a}, & af(a) \neq bf(b), \\ af(a) \cdot \ln \frac{b}{a}, & af(a) = bf(b). \end{cases} \quad (10)$$

The equality occurs only when f is a power function or constant function. Meanwhile inequality (10) is inverse if f is a geometrically concave function.

Proof. Let f is a geometrically convex function. For $\int_a^b f(x) dx$, Let $\alpha = \log_{\frac{b}{a}} \frac{x}{a}$, $x = a^{1-\alpha}b^\alpha$. Then

$$\int_a^b f(x) dx = \int_0^1 f(a^{1-\alpha}b^\alpha) \cdot a^{1-\alpha}b^\alpha \cdot \ln \frac{b}{a} d\alpha.$$

With respect to the definition 1, if $af(a) \neq bf(b)$, we have

$$\begin{aligned} \int_a^b f(x) dx &\leq \int_0^1 f^{1-\alpha}(a) \cdot f^\alpha(b) \cdot a^{1-\alpha}b^\alpha \cdot \ln \frac{b}{a} d\alpha \\ &= af(a) \cdot \ln \frac{b}{a} \cdot \int_0^1 \left(\frac{bf(b)}{af(a)} \right)^\alpha d\alpha = \frac{af(a)}{\ln \left(\frac{bf(b)}{af(a)} \right)} \cdot \ln \frac{b}{a} \cdot \left(\frac{bf(b)}{af(a)} \right)^\alpha \Big|_0^1 \\ &= \frac{af(a)}{\ln(bf(b) - af(a))} \cdot \ln \frac{b}{a} \cdot \left[\frac{bf(b)}{af(a)} - 1 \right] = \frac{bf(b) - af(a)}{\ln(bf(b)) - \ln(af(a))} \cdot \ln \frac{b}{a}. \end{aligned}$$

If $af(a) = bf(b)$,

$$\int_a^b f(x) dx \leq af(a) \ln \frac{b}{a}$$

is obvious. \square

3 Estimation Formula of e^{-x}

THEOREM 3. Let $x > 0$, $n \in N$, $n \geq 1$, and $T_n(x) = e^{-x} - 1 + x - \frac{x^2}{2!} + \cdots + (-1)^{n-1} \frac{x^n}{n!}$.

(1) If $0 < x < \frac{n+2}{n+1}$. Then

$$\frac{2(n+1)}{n+x + \sqrt{(n+2+x)^2 - 4x}} \cdot \frac{x^{n+1}}{(n+1)!} \leq |T_n(x)| \leq \frac{n+2}{n+2+x} \cdot \frac{x^{n+1}}{(n+1)!}. \quad (11)$$

(2) If $x \geq \frac{n+2}{n+1}$. Then

$$\frac{2(n+1)}{n+x+\sqrt{(n+2+x)^2-4x}} \cdot \frac{x^{n+1}}{(n+1)!} \leq |T_n(x)| \leq \frac{2(n+1)}{n+1+x+\sqrt{(x+n+1)^2-4x}} \cdot \frac{x^{n+1}}{(n+1)!}. \quad (12)$$

Proof. If n is an odd number, let $n = 2m - 1, m \in N, m \geq 1$. If n is an even number, let $n = 2m, m \in N, m \geq 1$. According to Taylor series expansion of e^{-x} , we have

$$T_{2m-1}(x) = e^{-x} - 1 + x - \frac{x^2}{2!} + \cdots + \frac{x^{2m-1}}{(2m-1)!} \geq 0,$$

$$T_{2m}(x) = e^{-x} - 1 + x - \frac{x^2}{2!} + \cdots - \frac{x^{2m}}{(2m)!} \leq 0,$$

$$-T_{2m}(x) = -e^{-x} + 1 - x + \frac{x^2}{2!} + \cdots + \frac{x^{2m}}{(2m)!} \geq 0.$$

Suppose $f(x) = e^{-x}, x \in (0, +\infty)$, then f is a geometrically concave function according to Lemma 1. Further since

$$\int_0^x e^{-t} dt = 1 - e^{-x}, \quad \int_0^x (1 - e^{-t}) dt = e^{-x} - 1 + x,$$

$$\int_0^x (e^{-t} - 1 + x) dt = -e^{-x} + 1 - x + \frac{x^2}{2}, \quad \cdots.$$

T_{2m-1} and $-T_{2m}$ are both geometrically concave functions according to Lemma 3.

Suppose $0 < a < x$, according to Theorem 1, we get

$$\int_a^x T_{2m-1}(x) dx \leq \frac{T_{2m-1}(x)}{(1+\eta)x^\eta} \cdot (x^{1+\eta} - a^{1+\eta}), \quad (13)$$

where $\eta = \frac{xT'_{2m-1}(x)}{T_{2m-1}(x)} = \frac{x(-e^{-x} + 1 - x + \cdots + \frac{x^{2m-2}}{(2m-2)!})}{T_{2m-1}(x)} > 0$. Let $a \rightarrow 0+$ in (13),

$$-e^{-x} + 1 - x + \frac{x^2}{2!} + \cdots + \frac{x^{2m}}{(2m)!} \leq \frac{xT_{2m-1}(x)}{1 + \frac{xT'_{2m-1}(x)}{T_{2m-1}(x)}},$$

$$-T_{2m-1}(x) + \frac{x^{2m}}{(2m)!} \leq \frac{xT_{2m-1}^2(x)}{T_{2m-1}(x) + x\left(-e^{-x} + 1 - x + \cdots + \frac{x^{2m-2}}{(2m-2)!}\right)},$$

$$-T_{2m-1}(x) + \frac{x^{2m}}{(2m)!} \leq \frac{xT_{2m-1}^2(x)}{T_{2m-1}(x) + x\left(-T_{2m-1}(x) + \frac{x^{2m-1}}{(2m-1)!}\right)},$$

$$(x-1)T_{2m-1}^2(x) + \left(-\frac{x^{2m}}{(2m-1)!} + \frac{x^{2m}}{(2m)!} - \frac{x^{2m+1}}{(2m)!}\right)T_{2m-1}(x) + \frac{x^{4m}}{(2m)!(2m-1)!} \leq xT_{2m-1}^2(x),$$

$$\begin{aligned}
T_{2m-1}^2(x) + \frac{(2m-1+x)x^{2m}}{(2m)!} T_{2m-1}(x) - \frac{x^{4m}}{(2m)!(2m-1)!} &\geq 0, \\
T_{2m-1}(x) &\geq \frac{-\frac{(2m-1+x)x^{2m}}{(2m)!} + \sqrt{\frac{(2m-1+x)^2 x^{4m}}{((2m)!)^2} + \frac{4x^{4m}}{(2m)!(2m-1)!}}}{2} \\
&= \frac{-(2m-1+x) + \sqrt{(2m-1+x)^2 + 8m}}{2} \cdot \frac{x^{2m}}{(2m)!} \\
&= \frac{4m}{\sqrt{(2m-1+x)^2 + 8m} + 2m-1+x} \cdot \frac{x^{2m}}{(2m)!} \\
&= \frac{4m}{\sqrt{(2m+1+x)^2 - 4x} + 2m-1+x} \cdot \frac{x^{2m}}{(2m)!}. \tag{14}
\end{aligned}$$

Since $-T_{2m}$ also is a geometrically concave function, by Theorem 1 analogously we have

$$-T_{2m}(x) \geq \frac{4m+2}{2m+x + \sqrt{(2m+2+x)^2 - 4x}} \cdot \frac{x^{2m+1}}{(2m+1)!}. \tag{15}$$

Let $0 < a < x$, according to Theorem 2, we get

$$\begin{aligned}
\int_a^x T_{2m-1}(t) dt &\geq \frac{xT_{2m-1}(x) - aT_{2m-1}(a)}{\ln(xT_{2m-1}(x)) - \ln(aT_{2m-1}(a))} \cdot \ln \frac{x}{a}, \\
\int_a^x T_{2m-1}(t) dt &\geq (xT_{2m-1}(x) - aT_{2m-1}(a)) \cdot \frac{\ln x - \ln a}{\ln(xT_{2m-1}(x)) - \ln(aT_{2m-1}(a))}.
\end{aligned}$$

Let $a \rightarrow 0+$, we note the L'Hospital Rule,

$$\begin{aligned}
\int_0^x T_{2m-1}(t) dt &\geq xT_{2m-1}(x) \cdot \lim_{a \rightarrow 0+} \frac{-1/a}{\frac{T_{2m-1}(a) + aT'_{2m-1}(a)}{T_{2m-1}(a)}}, \\
-e^{-x} + 1 - x + \frac{x^2}{2!} + \cdots + \frac{x^{2m}}{(2m)!} &\geq \frac{xT_{2m-1}(x)}{1 + \lim_{a \rightarrow 0+} \frac{aT'_{2m-1}(a)}{T_{2m-1}(a)}}, \\
-T_{2m-1}(x) + \frac{x^{2m}}{(2m)!} &\geq \frac{xT_{2m-1}(x)}{2 + \lim_{a \rightarrow 0+} \frac{aT''_{2m-1}(a)}{T'_{2m-1}(a)}}, \\
-T_{2m-1}(x) + \frac{x^{2m}}{(2m)!} &\geq \frac{xT_{2m-1}(x)}{2m + \lim_{a \rightarrow 0+} \frac{ae^{-a}}{1-e^{-a}}}, \\
-T_{2m-1}(x) + \frac{x^{2m}}{(2m)!} &\geq \frac{xT_{2m-1}(x)}{2m+1}, \\
\frac{(2m+1)x^{2m}}{(2m)!} &\geq (2m+1+x)T_{2m-1}(x),
\end{aligned}$$

$$T_{2m-1}(x) \leq \frac{(2m+1)}{(2m+1+x)} \cdot \frac{x^{2m}}{(2m)!}. \quad (16)$$

Also, for $-T_{2m}(x)$, similarly we can get

$$-T_{2m}(x) \leq \frac{(2m+2)}{(2m+2+x)} \cdot \frac{x^{2m+1}}{(2m+1)!}. \quad (17)$$

We omit the details.

Since $T_{2m-1}(x)$ is a geometrically concave function, according to Lemma 1 we have

$$x \left(T_{2m-1}(x) \cdot T_{2m-1}''(x) - (T_{2m-1}'(x))^2 \right) + T_{2m-1}(x) \cdot T_{2m-1}'(x) \leq 0. \quad (18)$$

Meanwhile,

$$\begin{aligned} T_{2m-1}'(x) &= -T_{2m-1}(x) + \frac{x^{2m-1}}{(2m-1)!}, \\ T_{2m-1}''(x) &= T_{2m-1}(x) + \frac{x^{2m-2}}{(2m-2)!} - \frac{x^{2m-1}}{(2m-1)!}. \end{aligned}$$

So

$$\begin{aligned} -T_{2m-1}^2(x) + \frac{2mx^{2m-1} + x^{2m}}{(2m-1)!} T_{2m-1}(x) - \frac{x^{4m-1}}{((2m-1)!)^2} &\leq 0, \\ T_{2m-1}^2(x) - \frac{2mx^{2m-1} + x^{2n}}{(2m-1)!} T_{2m-1}(x) + \frac{x^{4m-1}}{((2m-1)!)^2} &\geq 0, \\ T_{2m-1} &\leq \frac{2m+x - \sqrt{(x+2m)^2 - 4x}}{2} \cdot \frac{x^{2m-1}}{(2m-1)!} \\ &= \frac{2x}{2m+x + \sqrt{(2m+x)^2 - 4x}} \cdot \frac{x^{2m-1}}{(2m-1)!} = \frac{4m}{2m+x + \sqrt{(2m+x)^2 - 4x}} \cdot \frac{x^{2m}}{(2m)!}. \end{aligned} \quad (19)$$

Also, for $-T_{2m}(x)$, after some similarly calculus we can get

$$-T_{2m}(x) \leq \frac{4m+2}{2m+1+x + \sqrt{(2m+1+x)^2 - 4x}} \cdot \frac{x^{2m+1}}{(2m+1)!}, \quad (20)$$

If $0 < x \leq \frac{2n+1}{2n}$, we can find inequality (16) is stronger than inequality (19). If $x \geq \frac{2n+1}{2n}$, inequality (19) is stronger than inequality (16). If $0 < x \leq \frac{2n+2}{2n+1}$, we can find inequality (17) is stronger than inequality (20). If $x \geq \frac{2n+2}{2n+1}$, we can find inequality (20) is stronger than inequality (17).

The proof of Theorem 3 is completed. \square

4 Estimation Formula of $\sin x$ and $\cos x$

THEOREM 4. Let $n \geq 1$, $x \in (0, \frac{\pi}{2})$, $S_n(x) = \sin x - x + \frac{x^3}{3!} + \cdots + (-1)^n \frac{x^{2n-1}}{(2n-1)!}$ and $P_n(x) = \cos x - 1 + \frac{x^2}{2!} + \cdots + (-1)^{n+1} \frac{x^{2n}}{(2n)!}$. Then

$$\frac{x^{2n+1}}{(2n+1)!} \cdot \frac{2n(2n+1)}{2n(2n+1)+x^2} \leq |S_n(x)| \leq \frac{x^{2n+1}}{(2n+1)!} \cdot \frac{(2n+2)(2n+3)}{(2n+2)(2n+3)+x^2}. \quad (21)$$

$$\frac{x^{2n+2}}{(2n+2)!} \cdot \frac{(2n+1)(2n+2)}{(2n+1)(2n+2)+x^2} \leq |P_n(x)| \leq \frac{x^{2n+2}}{(2n+2)!} \cdot \frac{(2n+3)(2n+4)}{(2n+3)(2n+4)+x^2}. \quad (22)$$

Proof. Let $x \in (0, \frac{\pi}{2})$, and

$$\begin{aligned} f_1(x) &= -\sin x + x - \frac{x^3}{3!} - \cdots + \frac{x^{4n-3}}{(4n-3)!}, & f_2(x) &= \cos x - 1 + \frac{x^2}{2!} - \cdots + \frac{x^{4n-2}}{(4n-2)!}, \\ f_3(x) &= \sin x - x + \frac{x^3}{3!} - \cdots + \frac{x^{4n-1}}{(4n-1)!}, & f_4(x) &= -\cos x + 1 - \frac{x^2}{2!} + \cdots + \frac{x^{4n}}{(4n)!}, \\ f_5(x) &= -\sin x + x - \frac{x^3}{3!} - \cdots + \frac{x^{4n+1}}{(4n+1)!}, & f_6(x) &= \cos x - 1 + \frac{x^2}{2!} - \cdots + \frac{x^{4n+2}}{(4n+2)!}, \\ f_7(x) &= \sin x - x + \frac{x^3}{3!} - \cdots + \frac{x^{4n+3}}{(4n+3)!}, & f_8(x) &= -\cos x + 1 - \frac{x^2}{2!} - \cdots + \frac{x^{4n+4}}{(4n+4)!}. \end{aligned}$$

We can find that $\sin : x \in (0, \frac{\pi}{2}) \rightarrow \sin x$ and $\cos : x \in (0, \frac{\pi}{2}) \rightarrow \cos x$ are geometrically concave functions according to Lemma 1([5]). By Lemma 2, the following functions all are geometrically concave functions on $(0, \frac{\pi}{2})$,

$$\int_0^x \sin t dt = 1 - \cos x, \int_0^x (1 - \cos t) dt = x - \sin x,$$

$$\int_0^x (t - \sin t) dt = \cos x - 1 + \frac{x^2}{2}, \dots$$

So functions f_i ($i = 1, 2, \dots, 8$) also are geometrically concave functions on $(0, \frac{\pi}{2})$. For $0 < a < x$ and $i = 1, \dots, 7, 8$, Theorem 2 tells us that

$$\int_a^x f_i(t) dt \geq \frac{x f_i(x) - a f_i(a)}{\ln(x f_i(x)) - \ln(a f_i(a))} \cdot (\ln x - \ln a).$$

Let $a \rightarrow 0+$, have

$$\begin{aligned} \int_0^x f_i(t) dt &\geq \frac{x f_i(x)}{1 + \lim_{a \rightarrow 0+} \frac{a \cdot f_i'(a)}{f_i(a)}}, \\ f_{i+1}(x) &\geq \frac{x f_i(x)}{1 + \lim_{a \rightarrow 0+} \frac{a \cdot f_i'(a)}{f_i(a)}}. \end{aligned} \quad (23)$$

With respect to L'Hospital-Rule, inequality (23) becomes

$$f_{i+1}(x) \geq \frac{xf_i(x)}{4n+i+1}. \quad (24)$$

So

$$\begin{aligned} f_3(x) &\geq \frac{xf_1(x)}{4n+1}, & f_2(x) &\geq \frac{xf_1(x)}{4n}, \\ f_4(x) &\geq \frac{xf_3(x)}{4n+2}, & f_5(x) &\geq \frac{xf_4(x)}{4n+3}. \\ f_3(x) &\geq \frac{xf_2(x)}{4n+1} \geq \frac{x^2f_1(x)}{4n(4n+1)} = \frac{x^2}{4n(4n+1)} \left(-f_3(x) + \frac{x^{4n-1}}{(4n-1)!} \right), \\ 4n(4n+1)f_3(x) &\geq -x^2f_3(x) + \frac{x^{4n+1}}{(4n-1)!}, \\ f_3(x) &\geq \frac{x^{4n+1}}{(4n+1)!} \cdot \frac{4n(4n+1)}{4n(4n+1)+x^2}. \end{aligned} \quad (25)$$

Furthermore

$$\begin{aligned} \frac{xf_3(x)}{4n+2} &\leq f_4(x) \leq \frac{4n+3}{x}f_5(x) = \frac{4n+3}{x} \left(-f_3(x) + \frac{x^{4n+1}}{(4n+1)!} \right), \\ x^2f_3(x) &\leq -(4n+2)(4n+3)f_3(x) + (4n+2)(4n+3) \frac{x^{4n+1}}{(4n+1)!}, \\ f_3(x) &\leq \frac{x^{4n+1}}{(4n+1)!} \cdot \frac{(4n+2)(4n+3)}{(4n+2)(4n+3)+x^2}. \end{aligned} \quad (26)$$

According to (25) and (26),

$$\frac{x^{4n+1}}{(4n+1)!} \cdot \frac{4n(4n+1)}{4n(4n+1)+x^2} \leq f_3(x) \leq \frac{x^{4n+1}}{(4n+1)!} \cdot \frac{(4n+2)(4n+3)}{(4n+2)(4n+3)+x^2}. \quad (27)$$

Analogously, after some calculus we can get

$$\frac{x^{4n+2}}{(4n+2)!} \cdot \frac{(4n+1)(4n+2)}{(4n+1)(4n+2)+x^2} \leq f_4(x) \leq \frac{x^{4n+2}}{(4n+2)!} \cdot \frac{(4n+3)(4n+4)}{(4n+3)(4n+4)+x^2}, \quad (28)$$

$$\frac{x^{4n+3}}{(4n+3)!} \cdot \frac{(4n+2)(4n+3)}{(4n+2)(4n+3)+x^2} \leq f_5(x) \leq \frac{x^{4n+3}}{(4n+3)!} \cdot \frac{(4n+4)(4n+5)}{(4n+4)(4n+5)+x^2}, \quad (29)$$

$$\frac{x^{4n+4}}{(4n+4)!} \cdot \frac{(4n+3)(4n+4)}{(4n+3)(4n+4)+x^2} \leq f_6(x) \leq \frac{x^{4n+4}}{(4n+4)!} \cdot \frac{(4n+5)(4n+6)}{(4n+5)(4n+6)+x^2}. \quad (30)$$

The proof of Theorem 4 is completed.

REMARK 1. We shall present other applications of Theorem 1 and Theorem 2 in another paper, also includes estimation formula of remainder terms in Taylor series expansion of e^x .

□

References

- [1] Xiaoming Zhang, *Geometrically convex function*, Hefei: An' hui University Press, 2004. (Chinese)
- [2] J.Matkowski, *L^p -like paranorms*, Selected Topics in Functional Equations and Iteration Theory, Proceedings of the Austrian-Polish seminar, Graz Math.Ber. Vol.316, 103-138, 1992.
- [3] Shijie Li, *Further results for Jensen's inequality of convex functions and applications*, Journal of Fuzhou Teachers College 7(3), 30-37, 1988. (Chinese)
- [4] Dinghua Yang, *About inequality of geometrically convex function*, Hebei University Learned Journal(Natural Science Edition), 22(4), 325-328, 2002. (Chinese)
- [5] Constantin P. Niculescu, *Convexity according to the Geometric mean*, Mathematical Inequalities & Applications, 3(2), 155-167, 2000.
- [6] Xiaoming Zhang, *Some theorem on geometric convex function and its applications*, Journal of Capital Normal University, 25(2), 11-13, 2004. (Chinese)
- [7] Xiaoming Zhang and Yudong Wu, *Geometrically convex functions and solution of a question*, RGMIA, 7(4), 2004. [ONLINE] Available online at <http://rgmia.vu.edu.au/v7n4.html>.
- [8] Ningguo Zheng and Xiaoming Zhang, *An important property and application of geometrical concave functions*, Mathematics in Practice and Theory, 35(8), 200-205, 2005. (Chinese)